Sr Questions Answers Choice

.10 m2
.12 m2
.16 m2
.14 m2

1 If the length of a side of a square is 4 m, then area is.

.20 cm
.23 cm
.24 cm
.26 cm

2 If lengh of side of square is 6 cm then perimeter is.

3 Volume of cube is

.8cm
.10 cm
.12 cm
.14 cm

4 The perimeter of given triangle
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A. Rectangle
. B. Square
5 Area of parallelogram is same as area. C. Triangle

D. Circle
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.14 cm
.12cm
.10 cm
.8cm

6 If length and breadth of rectangel are 4 cm and 3 cm then perimeter is.

.10m2
.12 m2
.14 m2
.16 m2

7 If the length of a side of a square is 4 m. then are ais.

8 Area of square

9 Perimeter of square is

perimeter
B. Area
C. Volume
D. None

10 The region enclosed within a boundary of closed shape



